Name:

Block:____

Mathematics Problem of the Day

Show All Work in pencil for tull credit!

PLAYTHINK f DIFRCULTY: S @@ ™=~ n~

'- 06_' REGUINED: o

FLATLAND
CATASTROPHE-

he senses of Flatlanders are limited to

two dimensions. So if someone were 1o
ohserve them from a point just “above™ their
world, the Flatlanders would have no way of
sceing that observer

But what if you tessed a ball through the
| two-dmensional plane of Flatland? Would the
Flatlanders perceive the event as some sort of
asironomicat -catastrophe! Can you describe
exactly whal they would see? .

o

Type: __HSPA, __P/SAT, __DG, __ALG, __SMPSN, _ other
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11. ﬁ}? L F:? Z'!) 1 EF - (Given
) 1A Jrc
Qi mel = 9)° a ! _
ms2 = 90° b. 7 : E 1 2 F
mL = me? c, ? .
. fﬂ D
= »
10. iZAER = mt CED Given
B )

meBEC = msBEC a
mLAEB + me BEC = ml CED + ms BEC b, ?
MEAEC = mLAEB + mLBEC

c.
mLBED = ml CED + ml BEC d _7_
mLAEC = mLBED e. 7
3" 8. Given: DG = 8. GF = 8. (Tf_z_ EF Statements Reasons :
Prove: DG = EF _ 1. DG =8,.GF = § 1. 7
2. DG = GF 2 —-r_ ’
3. DG = GF 3.2 |
4. GF=EF o o '
5. DG =EF s, v l
1.6 6. Given: FR = AN Statements Reasons
Prove: FA = RN 1. FR= AN 1.7
- —— 2. FR = AN 2. 7
F R A N -
3. RA = RA 3.7
4. FR+RA=AN+ RA |8, 2
5. FR+ RA = FA 5 7
6. AN + RA = RN 6. ?
1. FA = RN 7. 2
8. FA=RN 8 2 !
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4. Given: OP = MN MN = QR
. Prove: OF = QR

M N

o P Q
———— il

11. Complete the proof.

-

Ll=43.42= /4

Prove: /23 and Z4 are complementary.

@
¥

2 \‘inté a two-column proof.
Given: ms6 = msl7

Prove: /3= .8

4 L

Given: £1 and £2 are complementary.

NAME
Statements | Reasons
1. OF = MN, MN = QR 1. 7
2. 0P = QR |2, 2
3. OP=QR 3. 7
Statements Reasons’
. 7 1. Given

2. mlb+me2'=90° 2. 7

3. 41 =43, 42=¢4 |3, 7

4, 7 4. Defintion ot con-

gruent angles

meL3 +mL2 =90° (s 7

mL3 + mLd =9 |6 7

7. 7 7. Definition of com-
plementary angles

w

L

13. Write an argument for Exercise 12 in the form of a paragraph proof.
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Name

Pracﬁce B

For use with pages 102-107

Match the statement with the Property of Congruence.

1. For any segment XY, XY = X7 A. Transitive Property
2. X JK = MN and MN = CD, then JK = CD. B. Symmetric Property
3. If BN = TR, then TR = BN. C. Reflexive Property

Mark the diagram with the given information.

4. IM=5LP=5 5. Eis the midpoint of AC. 6 WX=YZ
MN =3, PN =3 E is the midpoint of BD.
M A B W
X
E
Y
N L >
D c
P

Complete the argument, giving a reason for each step.
7. Given: HI = 8, 1) =8 [J = TJFF Statements Reasons

vae: Hi=JH - HI =8
H

=28
L HE =)
Hi =77
=JH
HI=JH

IR O
® 9 A w N -
-~

J

8. Given: AL = SK Statements Reasons
Prove: AS = LK . AL = SK

LS =1L§
AL+ LS =8K + LS
AL + LS = AS
SK+ LS =LK
AS = LK

& o s wN .
S ¢ A& w N o
—r

9. Write an argument for Excrcise 7 in the form of a paragraph proof.

Geomaetry Copyright © McDougal Littell Inc.
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LESSON

25 ?:actice B h

For use with pages 109-116 ‘

Use the diagram to decide whether the statement is true or false.

1. [fmz5 = 42°, then m£6 = 48°,
 1fms5 = 42°, then m2T = 42°. \
mi5 + ms7 = mib + ml8 — 853
meS + mi8 =mi6+ msl

e N

Make a sketch of the given information. Label all angles which can
be determined.

5. Adjacent complementary angles where one 6. Nonadjacent supplementary angles where
angle measures 42° where one angle measures 42°
7. A linear pair of congruent angles 8. Vertical angles which measure 42°
Solve for x.
9. 11.

79° (3x — 5¢°

n'¢

-

1?. Give a reason for each step of the proof.

Given: £ | and £2 are complementary. Statements Reasons
Lh=43.42=124 1. 41 and £2 are complementary. 1. Given
Prove: 23 and £4 are complementary. 2 m/ 1+ mzs2 =90° 2. 7
3 3 3. 21 =43, 2£2=/4 3. Given
2 4 mil =ms3, mi2 =ml4 4 7
3 5. ms3 + mL2 = 90° 5. 2
6. ms3 + mz4 =90° 6 7
7. Z3and 44 are complementary. 7. 7
13. Write a two-column proof.
Given: 22 = /3 o 3
Prove: Z| = 44 7 \
920 Geometry Copyright © McDougal Littell Ing.
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